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3. The fractlon of s* accounted for by regression on x.

4. The slope of the naive line.
5. The slope of the regression line of y on Xx.

6. The slope of the regression line of X on y (which would
apply if the variables were interchanged).
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9. For an ELLIPTICAL plot having the above averages, the aver

age calories for all subjects having time 36. ~ 7 _

3¢ ClosE To x 07—5/5\(
10. For an ELLIPTICAL plot having the above averages, the
best (by least squares) predlctmn for calories for a student with

time 36 745X AL Gow werk 17 00T
I11. The independent variable.
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13-21. r[x,y]=09,s,=2,5,=5,% =22,5 = 54.

13. Determine rly, x]. — 4(9(077 5/?7”73‘5:‘/:/

14. For points (X, y) on the regression hne determine the numeri-
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15. For x =X+ s, the regression prediction of y i1s y+ (?) s,. [,q,szzC
—— X +ady —aﬁeao/f,m){z

16. For x = 18 the regression prediction of y 1s?

cal value of

o.9
17. Regression predictions (15), (16) are sometimes useful even

if the plot is not elliptical. If the plot IS ELLIPTICAL what is
the special nature of the plot of vertical strip averages?
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rix,yl=09,s,=2,5,=5,x=22,y =54.
18. If the plot is ELLIPTICAL what is the average y-score for
all (x,y) pairs with x = 18? FroN GGK LINE AT X =/

19. If the plot is ELLIPTICAL what is the standard deviation of
y-scores for all (x, y) pairs with x = 18?

20. If the plot is elliptical, sketch the distribution of x, and the
distribution of y. —

21. Draw a picture illustrating all of (18), (19), (20).
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22-23. r[x,y]=09,s5,=2,5,=5,x =22,y =54.

22. Using (14), if I tell you that the population mean of X 1s u,
= 26 what 1s the regression-based estimate for u.,? V/Zg /7
23. Give the 95% CI for the estimate (19) if n is large. (The

plot need not be elliptical since the estimator (19) is dependent
upon x and y which are approximately jointly normal dis-

tributed for large n.) 7 /5 Ao £5] 7 /7 =
czvv&/@ﬁ_//m‘,L — § %W T




24. For the plot below, sketch the regression line for y on x
(usual). Also, sketch the regression line for x on y.
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25. For the plot just above calculate the slope of regression.
Confirm it with what you see in the plot. 0577‘;3 _ 0i33—/93 3.33

5(0/95/

26. From (/y_Wmﬂations (25) what is s,? 5,35~ 1.33%
Jr— 333V Se Aot er

27. Calculate s.. ¢ gpr 74Z £e5 105 of REGRESS/ 0l
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/u~,§ € ,00 T £ = = 1159



29. Interestingly, the correlation of x with the fitted values is

exactly equal to |[r]. Verify that 1t 1s so 1in this
case. o
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30. Draw 1n the regression of y on x. Identify and label x, ¥,
Sx, Sy (using 68% rule).



/ — — L i
- Z Xt A 2 Mee) v
4.01 456.

1194. 208 788. 1 1. —
3 9 58 OE‘ 88 5i9 _—Ei 5//0/@(,/,,:
. _ 2 Xy -Xx 7y CARES
I. sy.= Jog '7?6‘/,- ?y( 2. T= & .
N CARSE MN——~——F—"

m:U;_EjL

o
3. The fraction of s*% acebunted for by regresgion on X.

% . (.
4. The slope of the naive line. j J’Zo,tf%_,
J & 21
5. The slope of the regression line of y on x. % e (VE
2 /éx Woree Aeer2e

6. The slope of the regression line of X on y (which would
apply if the variables were interchanged).
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9. For an ELLIPTICAL plot having the above averages, the aver
age calories for all subjects havigé time 36. =~ 2x <o ,Vfﬁj
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For SUcH X=36 2~ 71 = 75K,
10. For an ELLIPTICAL plot having the above averages, the
best (by least squares) prediction for calories for a student with
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13-21. r[x,y]=09,s, =2, Sy—S x =22,y = 54.
13. Determine rly, x]. = [})’/? = 0.9 5)///77//"(-:—7%0

14. For points (X, y) on the regresmon line determine the numeri-

cal value o y__:: Ilope oF /4)‘7
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15. For x =X+ s, the regression prediction of y is y+ (?) s,.
16. For x = 18 the regression prediction of y 1s? A=, 6}

17. Regression predictions (15), (16) are sometimes useful even
if the plot is not elliptical. If the plot IS ELLIPTICAL what is
the special nature of the plot of vertical strip averages‘?
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rix,yl=09,s,=2,5,=5,x =22,y =54.
18. If the plot is ELLIPTICAL what is the average y-score for
all (x, y) pairs with x = 18?

19. If the plot is ELLIPTICAL what is the standard deviation of
y-scores for all (x, y) pairs with x = 18?

20. If the plot is elliptical, sketch the distribution of x, and the
distribution of y.

21. Draw a picture illustrating all of (18), (19), (20).
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22-23. r[x,y]=09,s5,=2,5,=5,x =22,y =54.
22. Using (14), if I tell you that the population mean of X 1s u,

= 26 what is the regressign-based estimate for u,? Mﬁ
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23. Give the 95% CI1 for the estimate (19) if n is large. (The
plot need not be elliptical since the estimator (19) is dependent
upon X and y which are approximately jointly normal dis-
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24. For the plot below, sketch the regression line for y on x
(usual). Also, sketch the regression line for x on y.
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25. For the plot just above calculate the slope of regression.
Confirm it with what you see in the plot. 0577‘;3 _ 0i33—/93 3.33

5(0/95/

26. From (/y_Wmﬂations (25) what is s,? 5,35~ 1.33%
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29. Interestingly, the correlation of x with the fitted values is

exactly equal to |[r]. Verify that 1t 1s so 1in this
case. o
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30. Draw 1n the regression of y on x. Identify and label x, ¥,
Sx, Sy (using 68% rule).



